‘?\ ~y 'TMJJUFL(/EL/

L?‘ @,g\'b FIRST REVISION TEST - JANUARY 2020
STANDARD - X

"\/TIME 3.00 hours MATHEMATICS MARKS: 100
Part - | (Marks : 14) '
Note: (l) Answer all the 14 questions. 14x1=14

(i) Choose the most suitable answer from the given four alternatives and
write the option code with the Corresponding answer.
(lii) Each question carries, 1 mark.
1. If the ordered pairs (a + 2,4) and (5.ga + b) are equal then (a, b) is

a)(2,-2) b)(5,1) c) (2,3) d) (3, -2)
2. f(x) = (x+1)*- (x-1)° represents a function which is
a) linear b) cubic c) reciprocal d) quadratic
3. Ifx-6isthe HCF of x? -2x - 24 and x2- kx -6 then the value of K is
a) 3 b) 5 c) 6 d)8
4. GivenF, =1, F,=3andF =F_ y+F, ,thenF is
a) 3 b) 5 c)8 d) 11
5. Graph of linear polynomial is a
‘ a) straight line b) circle c) parabola ) hyperbola
| 6. If number of columns and rows are not equal irr a matrix then it is said to be a
| a) diagonal matrix - b) rectangular matrix
c) Square matrix d) identity matrix
7. Atangent is Perpendicular to the radius the
a) centre b) point of contagt
c) infinity d) chord
8. If(5,7),(3,p)and (6, 6) are collinear, then the value of pis
a)3 b)6 . c)9 d) 12
9. (2, 1) is the point of intersection of two lines,
a)x-y-3=0; 3x-y-7=0 b)x+y=3;3x+y=7
C)3x+y=3;x+y=7 d)x+3y-3=0 ;x-y-7=0
-10. acotO+bcosec®=pandb cot0 +acosecd= q, then p? - g2 is equal to
 a)a?-b? b) b? - a2 " c)a?+ b? db-a

11. The curved surface area of a right circular cone of height 15cm and base
diameter 16¢cm is _
a)60ncm? - b) 68 © cm? ¢) 120 n cm? d) 136 n cm?
12. The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same
diameter and same height is
a)1:2:3 b)2:1:3 ¢)1:3:2 B B




2 X - Mathematic

13. The Sum of all deviations of the data from its mean is

14.

15.

16.
1.

18.
19.
20.

2%

23.

24,
25.

a) Always positive b) Always negative o

c) zero d) non - zero integer

If a letter is chosen at random from the English alphabets {a,b, . .. . ... z}, then the
probability that the letter chosen procedes x

12 1 23
i — = d) —
» 13 b) 13 . 4 € 26 ) 26

: Part - Il.{Marks : 20)
Note : (i) Answer any TEN questions only -
[Question No. 28 is Compulsory]
(ii) Each question carries Two Marks.
Let A={1,2,3}and B={x / xis a prime number less than10}. find Ax B and

B xA.

Find the domain of the function f(x) = \/ 1+ \/1 - J 1-

Find the indicated terms of the sequences whose n th term is given by

10x2=20

5n
a, ey ;a, and a,,
H1+2+3%....: + n = 666, then find n.
Solve 2x2 - 3x - 3 = 0 by formula method.
' 5 e
fA=|-vi7 0.7 -g then verify (AT)T =A
8 a 1

The length of the tangent to a circle from a point p, which is 25cm way from the

centre is 24cm. What is the radius of the circle?
Two buildings of different heights are located at opposite sides of each other. If a

heavy rod is attached joining the terrace of the buildings from (6,10) to (14,12) ,

Find the equation of the rod joining the buildinges?
Show that the straight lines x - 2y + 3=0and 6x + 3y + 8 =0 are Perpendmular

Show that secb - cos0 = tan0 sind
If the base area of a hemispherical solid is 1386 sq. metres, then find its total

surface area?



27.
28.

3.

L8N

37.

39.

23 | ' ;09 X - Mathematic
A solid sphere and solid hemisphere hav

ratio of their volume is 3,3 4.
Write the sample space for tossing three coins using tree diagram.
Find the standard deviation of first 21 natural numbers.

. Part - I
Note: (i) Answer any TEN question only. 10x5=50

Question No. 42 is Compuisory.

(ii) Each question carries FIVE Marks.
Letf: A—B be a function defined txyf(")—i—1 where A= {2, 4, 6, 10, 12}
B={0,1,2 4,5, 9) Represent by
(i) set of ordered pairs (ii) an arrow diagram
(iii) a table g (iv) a graph
Iff (x) =2, g (x) = 3x and h (x) = x -2 prove that (fog) oh = fo (goh)
Discuss the nature of solutions of the following system of equations.
X+2y-2=6 ,; -3x-2y+5z=-12 ; x-2z=3 ‘
Find the sum to n terms of the series 3+33+333+........ to n terms.
Find the 12th term from the last term of the AP -2,-4,-6,...... -100.
The internal bisector of an angle of a triangle divides the ogposite side internally
in the ratio of the corresponding sides containing the angle, prove.

{1 2 1} |
Iif A= nd B= -1 4 show that (AB)T—BTAT

Find the area of the qudnlateral whose vertices are at

(-9,0), (-8 .,6),(-1,-2) and (-6, -3) .

A girl wishes to prepare birthday caps in the form of right circular cones for her
birthday party, using a sheet of paper whose area is 5720 cm2 how many caps
can be made with radius 5cm and hight.12cm.

Find the equation of a straight line joining the point of intersection of 3x +y +2=0
and x - 2y - 4 = 0 to the point of intersection of 7x -3y =-12and 2y =x+3

A vessel is in the form of a hemispherical bowl mounted by a hollow cylinder. The
diameter is 14cm and the height of the vesselis 13cm. Find the capacity of the |

e equal total surface area. prove that the

vessel.
Find the co - efficent of variation of 24, 26, 33, 37, 29, 31.



41.

42.

43.

4 X - Mathematic

A box contains cards numbered 5L O L AER 35, 37. A card is drawn at

random from the box. find the probability that the drawn card have either multiples

of 7 or a prime number.
Two ships are sailing in the sea on either side of the lighthouse. The angles of

depression of two ships as observed from the top of the light house are 60°

| ‘ V3+1
and 45° respectively. If the distance between the ships is 20({—7—5— metres, find

the height of the light house. .
: | Part- IV
Note : i) Answer both the questions.

ii) Each question carries 8 Marks.
a) Construct a triangle similar to a given triangle PQR with its sides equal to 5"

of the corresponding sides of the triangle PQR ( scale factor > > 1)
: . (Or)
b) Draw A PQR such that PQ = 6.8cm, vertical angle is 50° and the bisector of
‘the vertical angle meets the base at D where PD = 5.2 cm.
a) Graph the following quadratic equations and state their nature of solutions:

(2x-3) (x+2) =0

2x8=16

A (Or)
b) Draw the graph of y = x? + 3x -4 and hence use itto solve x2 + 3x-4=0

deddeh ik
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